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at the right. The function g is defined by
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3. The function f (x)=2+/x has undergone the following transformations:

Horizontal Transformations Vertical Transformations
1. Reflect in the y-axis 1. Reflect in the x-axis
2. Compress by a factor of % 2. Stretch by a factor of 4
3. Translate 3 units to the right 3. Translate 5 units down
/

(@) Write the transformation ysing mapping (b) Write the transfgsfiation us?n’g tion notation. (2 KU)
notation. (2 KU) j /
xy —> (—J_x+g L,Ly -Q g(x)= - ;(‘2[9(—3)) _g

(c) Apply the transformation to foug, key (d) On the given grid, sketch the graphs of both f and g.
points on f. (2 KU) \/ (4 KU)

Pre-Image Image 20

o) (3,-5) m

(1,2) (2 -13) Jeiecasceciase: 5 ....................
(44) (1, =)

%]
=]
JEN
m
1
JEN
=
m
MTTTTTTTTTTTTTTTITTTT ITTTTTTTTITTITTTITTTTT
£
[=1
L]
[=1
n
o]
=

(9,6) (-2 59

-210

4. A farmer has 120 m of fencing to enclose a rectangular pig pen and divide it intgsthree sections. Find the
dimensions of the pen that maximize its area. (10 APP)

Let A repreent™ the area of the pen A — > >
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Aly)=y(30-y) (see next page —>)
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5. The student council is organizing the annual white-water-rafting trip. In the past, the price per student was set
to $220 and an average of 30 students chose to go on the trip. This year, the student council wants to decrease
the price. Based on a student survey, they estimate that for every $3 decrease in the price, 2 more students
would choose to go on the trip. How much should the student council charge to maximize revenue? (10 APP)
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6. A one-to-one function f has domain {x e R|X > —4} and range {y R|y < —1}. Determine the domain and
range of the function g defined by the equation ¢ (x) =3f " (2x+2)+47 (8 TIPS)
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7. Let f(x ):—— (10 TIPS) g)’é l)’ > gz

(a) Prove that f (x)=f™(x).
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(b) Let the functlon g be defined by the equation g(x)=af (bx), where a and b represent any non-zero real
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numbers. Prove that g(x)=g"(x).
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